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Sol:

Sol:

(a)
(i)
(ii)

(v)

(b)

corresponding angles?

E b

L L

P Fa = C

AB = DE ZA =D

AC=DF | sB=_F

Are all similar figures congruent? Explain why?
All similar figures are equal in size and shape.
Therefore, similar figures are congruent.

Are all congruent figures similar? Explain why?
All congruent figures have same shape but differ in size.

Therefore, congruent figures are not similar.

Fill in the blanks.
IfAABC = AFDE

, then
AB= (i) BC=__ -
A_(‘-=____: (iv) méA=___H$ ‘
meB=_ (vijy mLC= .
In APOR

, the angle included between side PR and QR is
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In, the side included between <E and £F is -
(d) !1‘._'!?:(_:)7."148 znfép,}—j?:-jp_k*,[henby

condition, &1 BC = AQPR
(e) If mZLA=msLR . mZB =msP . AB =RP then by

o congruence condition, A4 BC = ARPQ
Answers:

A ZX
A—c D E
: (a)

(iy AB=FD (iiy BC =z DE
(iii)y  AC = FE (iv) ZLA=zLF
(v) ZB=Z2D (vi) ZC=s2ZE

mid angle <R P (b)

mid side FE . F i (c)
£

miLA=msR A

| R
msLB=msP
AB=RP ﬁ
. 0} c, !
AABCSARPQ  pgo= AsA

(d)

— —
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2. In figure, the pairs of corresponding equal parts ina par
of tnangles are shown with similar markings. Speaity the
two triangles which become congruent. Also, write the

congruence of two tnangles in symbolic torm

e oL o
A F
o
" '.. : . r
Ly

X

C E

(/) AABC = ADEF ¢gg = g8

(44) ANYZ = ADFE Ry ® RHS

(4ir) AdBC 2 ACDA ASA = ASA

(iv)  APQI=ASRT gAgE gAS

3. In figure, ABC and DBC are two tnangles on a common
base BC such that AB=DC and , where 4 and D he on
the same side of BC. In Ad DB and ADAC , state the
corresponding parts so that A4 DB = ADAC

Which condition do you use to establish the congruence?
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It mZDCA =30 and meBAD =100
Find LA DB

B
Sol:  Now A4BC 4,4 ADBC

common E = E
gliven AB = DC
.

Now A4DB 4,4 ADAC P

DAz AD

DB= AC

BA=(CD
A4ADB = ADAC

SSS =SSS
msDCA = 40" now
msBAD =100" and

mZABD = 40" therefore
mZADB =180° -100° - 40°
= 180° - 140°

= 40°
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4. Identify the following figure as congrucnt, similar or
netther.,
) (!l) (m)
Sol: (1) congruent (1) congruent
(111) congruent
No one is similar
5. - Identify the corresponding parts in AMNO 4,4 AP OR
() M o ] N Q
(i)  NO ]
(i) PR ]
(v) A i
1 / ‘ é
M o p R
Answers:
(1) MN o E
(i) NO o  Op
(i) PR & MO
(v) <l < Z4

Quadrilaterals:
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A quadrilateral 1s a
polygon with four
sides.

Parallelogram:
A parallelogram is a
quadrilateral with two

pairs of parallel sides.

Rectangle

).

]

Pr

A rectangle is a parallelogram containing a right angle.

3

L

C

Square

A square 1S an equilateral rectangle.

C

A

Properties of Congruency

Four Sides of a Square are Equal

&

R

Q

ABCDisa étjUarc. Measure 4 B,BC.CD and DA.We

find that.
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mj-?li = m}? = m(_'_f.j = m?ﬁ =2 8Bem,

D

A

C

B

Four Angles of a Square are Right Angles

ABCD is a square. Measure angle A, B, C, D with

protractor. We find that

miA=msB =msC =msD =N’

M

= C

-

0

]

Diagonals of a Square Bisect Each Other:

287

Consider a square ABCD, the diagonals and intersect at

'O We find that

mm =mOC = | 9¢m and

mOB = maﬁ =1 .9%m

D

A

7.5.2  Opposite Sides of a Rectangle are Equal

Consider Rectangle
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[ ctus consuder a rectungle A4CT.
,Y-I H(f; and IIJH(— arc opposite pars of rectangle
ABCT).

We find that mAB = m( D =4.5m and

mAD =mBC = 2.8 m

mAB=mDC (1)
mm‘ = mm and -

meA=mLB=msC =msD=90" (11)

(1m)

mm =miN’,
mOB = mOD
mrﬁ = mt’ﬁT” = mE’)_H = mt-')h[}
Properties of Parallelogram
4 The opposite sides of a parallelogram are equul.
ABCD s a parallelogram. --"B-('Q and AD,BC are
pairs of opposite sides.
We find that

mAR = m(_ﬁ =3.9'm nd
mAD = m EL— =2.(em
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b

A 8
The opposite angles of a parallelogram are equal,
ABCD 15 a parallclogram. £4.£C and <B.£4D are
pairs of opposite angles.
We find that
ML =msC =70" wnd
meB =msD =110

D

A

B

The diagonals of q parallelogram bisect each other.

A parallelogram ABCD. the diagonals AC and BD
intersect at Q. We find that
mOA =mOC =2 5m

and mm = m(jﬁ =2 5m
0
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